802 ~€802-£902 ~6507 = B W

fm bl S

N e Y S 36t 2 R O L0 7 3 3k Y

GG

N 16788 FHF A
HEEHHFMEESE E

x

55 (£159)

9.18

—155.5

3 12.8 km

13 km

14 km

- 15 km

17 km

-156 k

A1

588

-156 km

-157

AN =

2

b |

=

\ \ \
AR —
R |
\

=
[5)} = \
2 OO Pl =
o« \
|
%
®
gL f
~7 350 &3
—

-157 km

ey MmN\ (e

-158 k

158 km

A

UL

WA=/

-159 km

m

12.8 k

13

14 k

15k

—159 km

18

18.1 km

100 200 300 400 590

1:5,000

DR = RICE OCE L #h 3B e R KGR ({5 ) R 6JHs 302 ’
cOBEE, E L tBEROAEERE T, ARETOTFMBREHANVCHERLIEDTHS.
E=EZENSOCERTISEICE. B ERRORZDER/LINEELEL,

B 55 -

=F=

MITFEE - 2059~2063-2083~2084

SRS e T D e



